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GEOGRAPHY QUESTHONS - 1- 50" Questions

PHYSICS QUESTIONS —=51-100"™ Questions
Total Marks [x1.5} =150 Marks

Time Duration = 1% Hours

1. smismaila = Lm@ s amen GuomaSls Sk
L& s eufleme L (B & & &
[A] WI{LDESTIT, ST &I, CETaT, SITanL & G&mHl
[B] &m&Qm, WLDsmm, SramL & Gand, Coman
[C] WA LpEaTIT, ST&TT, STaN_ & CHTa, CHmFl
(D] T &I, WL, G Fl, Smem &, G

2. 1Fipunwn Ly g S m ) - 24 (heee s e TIyG g s
Lol oo & el eTeleumm) s & s E Sl g
[A] Fmrk G 18] &leum mrkd
[C] & | O] i AT

3. & eodlgpjeTan L& o wifhS & &7k Lao
£1pa samL e h S Howinmead AemLfda
2] oL i ) €T e e
[A] euffiLnm & &6 [ShunillLem e
[E] aunffiLoim & Sl S o innenao
[C] Seumedl s S winameo
[O] S6ILD& i) (S LOILI LD a0

4, C1p o emem ileos S8 mim& S s aamel

Lot mom) pflelr G Fweflammed o eumeu &l e smen?
1A] um iy e [B] & &
[C] & Qy 0] Wihwimea L ijera

5. gud symfle Mmoo &m0 E e gl
[A] mm g (0 e
(5] o L T 5 6000 LT 5 L0
[C] @7 LD 68T LD 680
0] Gl {Re

. G Tl 8 6000 L LD ) T L 60 LT 6 L) 6 6T T 380 AL
& gt &l Cun s S s L) &er
[A] 24 dls wanip ClumjL L & e
18] ufils 2l inamip Sy L gl ser
IC] Uil uomen wanip Cumyb L $ e
O] (gemmyeum & oemip Cumyu LS sem

7

. Bk dlwradley sully, umy, s, usomahy, &&iM
Lo iy L &6 ) Loy R T LD S L euii il 0
6T Tl (& T 0 L L0 {5 ) v
[A] Qe il L0 ST LISG@nLD LOMW T & & (5 &
[E] Qe iLy Lo §EL_ € LI Eu & LOMW T ms &I (E el
[C] iyl 6 (L0 U LY (LD LY 86Ty 61T (B it
[D] W g Cmey &R &

. B dlwuradle s sdle senallsy smamiuEn
&R &
[A] e iLN L0 SFET L6 LIS LD LD [T & T (5 el
[E] Sl iLy Lo §Fe 60 LI(iEEw & LD L) ITé 8T (5 &l
[ 2] iy i e (B L0 DU LD (LD LY Gy 61T (B Rt
[D] o (s Gmel &IT(E &er

. B eno g CI T CLo Mg L (ks S

8T 0 g ) 0 T T (8 T L L0 () 50 5 60T T T T ALY 7
(4] Lmsmew Fle0 SiemLoliL

[B] s meuquilemanin

IC] &4, reusnedl nemend QEmoi

[D] eT &y & mimeue &) &em.

10. sy reuevadl wemeo&ElHmflar uils o wihs

132,

Sl

(4] wCamHr A

[E] @mAsm]

[C] Qe el sy etvigedm  [O] Clgemsmums

. UEEDDID STl ans SEm [FEIhSmam
B anamEAmET

[A] Gipaogr - GFsneme

[B] smpusumiy - SpESETEND

[C] Gmsogomi - LD T LD

[D] allpgweMmLr - L0 SETRmD

HEEDTE CUTmBS Dosna Hamemanud CHIE
LOGTEL L& L LD

[A] GFTaMgmusR weney - (BFGD

[B] S&LQMWGE WwEnan -l R

[C] Gasrsbadpenan - [ETEHEED

[D] gsoddl wenso - [BEoET

. “@fuph urenp” AUl GETL sl wgT

[A] s [B] WaupBhs
[C] usfiuTm [D] ®Lah gl
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4. GLmmSEIE
yaludlinst mismosil b amaienso [FemsalD
[a] FwGame I} Gsugori
[b] LemEcESFH B T L
[c] digpd 1) GsrunbuGsnT
[d] ®_Groamd umEH 1) GlFsnanem
[al ] [ [

[A] 2 | 3 4

8] I ¥ 4 3

i€l I Vg F3

(D] 1 2z 3 4

15, @paGsTass arg oemobisnams’
[A] yf whgndh Gemuri
[B] Coassumil ofqmb Fef
[C] GeFsummil hmmn Geussd
[D] afluwmpsi whmh Grssmi
16, wuipEmigsh S DEany Tl L RS aHSHmen T
Al 33 B 14
[c] 15 D] 12
17. #G0 ®_sensuiiist sralflup s GIEHTL mseme
e STET
[A] aaeEd wamsw

[C] HSoqmush 1oemay

[B] EReisuTg Losnan
D] FGGaf e

18. Cpsafamd ®La aps Gugmbuiso

Tl % 301

[A] @hAHu Gumhs s [BUFLiE GLmEISL &
[C] =a Foraingd GLImbISL @

(D] =gimgd GLImESEL b

10. safL paTadisnea o arssn yaiuiss ks
armlT

[a] GuwBsomE [B] ®auFib

[C] &maiD D) B@fs a@ifisemsn
. Medicinal Plant Development Area (MPD[A] sElE

GlFwisn alsemen?

[A] Gsaub [B] @wiwyd

[C] Cmisrdsdi (D] wEEni
2. &wenpd it 2 marsD GunsnT

[A] &nit Fyai [B] wsm_ @Syan B0SD

[C] £ FHgs Gosd [D) BTTUSL GosD

The Information Provided here iz only for reference.

22, G MmEFIE

[T LOTEHL L 1D
[a] =diFan 1) BamugpsarT
[b] susEIL &0 1) EmakFIYTD
[c] GiFbiosm 3) sasiwTEHLT
[d] Geo L angL 4) FlRusEhEns

[al [ [ [d]

4] 1 3 4 2

m 3 1 2 4

K 1 3 1 4

o 3 | 4 2
13, sl FDIEmaT SIS,

1. snpm sfD FoFeEE SaaELTE LS
Bbar il pmhADE sEohgsi
SISO LR ST

2. Jdsp spFy anm waEpEmANsa S1HI
alst FenFdd P HMaUNS HHDID
o G T P v | T

3. unEns RIMEDDE SMETEMOLTSD BT
UFHS Bata0 LnghHmEED [FeNsiL 0awsD
i . o IRTT AL T
GEis.

[A] Gsomuen, GF.C0, LTSI

[B] G&'0, ursns, Gaomuas

[C] uisrsht, G0, Gsomwerh

[D] GF u, Beomusen, uvsrsa

M, EdFunaien ssand sgamird oD
DiFDIDHEET FELD agT
IA] GursEmT
€] GLsbal

15, Fiumen s GHETS.

1. Gurmfsst ysiuish Gaain Fansosny womimE
A T L i

2. ayman nmgdsr Bugmfuisn sgradl sy

43500 &l THa gD,

[A] | il Hb

[B] 2 wlfjb

IC] Biesibn

0] Efs gt

[B] svam@gmung

[D] CFshsnam
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26, yal Gulsom’peh syrsfl o ST sk 3, ‘mfec’ (penp mpeih sBRmmds

[A] &gfcm [B] dgfcm [ G g
[C] 3gfcm 0] 2gfcm 4] s1dEih [B] #Giosm
1. G mBEIS [C] 2_smay LBIBES0 (D] G0 LB BHD
sifioansn b 35, wewssllal FT LFD HeNenDenL  STcael g’
[A] umpsiSa) ) BEHwm [A] &G0 Da [B] &Taolb
(8] GormGsoram 2} Bigmnal [€] Bl [O] (p@aRsme LmsmD
[C] Gl 1) mnasmi 36, SE oosian aEE wran L@ Gumb
5 4 o B 0 T 0 0 O 5 s oy O 1 1
10 Mk ) al [A] GFaub [B] @&mahFlmb
I [J:t] !E-] [? [4['] [C] BImopRTSUTLD D] Fausbians
B | ;| 4 3 37. ushai SaTenew, (ApHHINGUC L Gumsp
e 3 1 4 k] E_meais: B sismanad STSiSUSHELLITSN
m 301 20 4 RS0 1L Sai !
[A] 9& Haub [B] & @R Haob
28. LnenpsaTen et Cordmsuiss LB sBLGE IC] ®ami b D] 2 s Bevd
T i T 38 aueDgpp st WeNfanaouil LyemLofhgsiem
[A] pdemar [B] Gapsnao® s L ib 1T
(€] Fladlas (D] srifLiGen [A] s1sdlLmb [B] Gauguri
20, @ mabsT aflup st GEmoTusw S amT [€] & mausismmirsns: (0] Smasiani
] BFAFI [B] s 30, iHHL sy FO usFsman Lpiuenals
€] =Gwans [D] Szubari sl uist gpafmamsuis agsapn
A] eIy, i sipmBasl, Lmosi-sniwg.
3. saF_l usELTmE STEMILGD B s iﬁim:;u calat gl |u
[A] Himani [B] LCSmSOUNGRUTTLD

i ) : g [B] Lmpsi-anLl), FamQET, HHT BIETRDEET,
- [? LDEH:LL?EI I.Elnqm.lg.ﬁ (0] B@a0 mHEulsama Co_ sl
« i i ok [C] GLsal, FRAMpET, LMosH-SDLIL. SHTHT

. musanss wampEamEss G, 0 ETETRDEausd
2. (iepshdl R eMDEANES LTS D] papi prsipndasd, semgsn. GLsad,
A | i f B] 2 wifi b
€] B 0] Sifs gEadd 40, ymm Lnrlzﬂmﬁ._y_a o e e O R |
GETATEITS OAHELD T
32 mupErl weaslm@uis sl [A] Gufis sdsstemD  [B] ggaT
GClmren smeoib, @eihsran, weap srasHso €] o_&@nirlssib 0] whHwinigEssb
o_smmn Galnb@a sy x : 0 S B
[A] 11°C, 6°C, 14°C [B] 14°C,6°C, 11°C - .ﬂ@s_&gm‘g‘ug ?M’" mtﬁlﬂﬂﬁm b ol
g a HESETE D aTAE ]
[€] 14°c, 11°C, 6°C [D] &°%C, 11°C, 14°C (A bl (8] S
13 &G e sisn @ES wTan Lp 1000 off — 1200 €] Cszamrauf 0] aug
i;ﬁ“;::; wamgObumfeam Gumnb Ul guwsiso T abn vafild S
T TRGE
[A] EnEhFLmD [B] Beodd sl .
€] Deabisd ! i [A] smhpmis Fuwlbawsd [B] g sk

[C] Gamusmam Fwlast [D] weoumi Fwoblaed

lotea: The Information Provided here is only for reference. It May wvary the Original



oter:

wwW.sarkariresults.ic

43, Gupss@u Semougyn shm slsn ST
[A] wrird - B [B] iUl - Glyaef
[C] aigst - G (D] mram - Gl toum
44 p S IMTHETETLLTD LDSDaiGET 56T 0L
EFOLCHGEIGTET  LOTaun 1 LD

[&] s 8] HmEmsEmad

[C] Fmauatsmi [D] @mammt
45, GaranELmT UTuph sl LD

[A] HmbpeGaml [B] &HabEn

[C] & mEmsT [D] msalm

46, Filumen Sl GHis.

|. Cpsibiohs UHMEEHWSE SGDET g
GupE uSFH BN WD WD LSS S
LD,

1. Gmpa CupE umssETOE ApsuD Heosid
wrel Lk 70% wsmpl Gumfsey GumEinz.
[A] | il b [B] 2 i b
[C] Bpso D] Efa aznbissmen

47, OFFramb FEaE STHSET D0 FsTaT
LOTEUL LD
[A] i gln b
€] Gsmsnsn

[B] S guarit
[D] SmEhFi b
48, miipEmigst SRSD S SHD S
DT R L AT
[A] GFoub — Hanbadss [B] Cxrema — Haos
[C] RETE — Smiys
[D] \DEED] — SeisLmET
49 snim fed 2 Pusd Griyd wiubss LS
% T ] % O e
[A] SENEEISHY [B] EmGpaiEmad
[C] Ssafimgiod [0] GamuibLhET
30, Fiure splemas GHis.
|. aenGamil dihabsan GLimoemay
HODETL s Cubg wallfmiHHeo Lt
Gl K SR
1 gl pnlyst GuiE usmBssr GEbDwei
T T T
[A] | wifm
[B] 2 oo (hiD
[€] EssbiE
(D] S agudsmen

The Information Provided here
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PHYSICS

51} pm géa] whHmib 1 0ansdtLd ey
(M 71 acre, and 1 hectare’s respectively are

[A] 4047 m2, 2.47 acre [B] 4047 m, 2.47 acre
[C] 4047 cm, 2.47 acre |D] 4047 km, 2.47 acre

52) mafm e mmm s o e (E T 6 s
MWho invented Advanced Microscope
[A] grumil quifés/ Robert Hooke
[B] @pruyl dChyanel/ Robert Brown
[C] mmelm G/ lohn Ray [D] ey gaio&n/Ernst

53) sfiwms CummhSsieTms &amonfle identify

the correctly matched
1 uafl sl 2 mEse - Wearm wrmmb
2. ey G efwn g - Werm wrmmb
3. ami saflwnrgs- Warm wrhmw

1. Melting of lce — lIrreversible Change

2. Batter into |dby — Irreversible Change

3. Ripening of Fruits — Irreversible Change

[A] 1 Only [B] 3 Only
[C} 2 and 3 Only ID] L, 2and 3

54) @hSlw fluy G siush SiHunalls
ETTRNS SIEWLD&HSLILIL 6y & ang)
[A] B\pmHTSLTL Wwrenl L b, §uilpmrE
[B] Emmebeuil wirewl L b, G&[Fearm
[C] Gaanfl wmeu L1 sulpmmE
(O] 2 F0nT el L b, &FHITL_ &L

55) mildhwen aflemes QewsuE eudlarme

Cummeflen erihHly s Mmed Under the force of
gravity the mechanical energy of a body is

[A] Sl Zero [B] 8BRS Increase
1C] wirmm gy Constant [D] @enmLn/ Decrease

56) Spbaame aflnkemea Mg aamLulld
gmieuflen Fuiled or(Lpg) sArrange the following
element in the order of their increasing atomic weight
[A]C, AL Na, P [B] C. Ma, Al P
[C] Ma, C, P, &l [D] Na, C, AL P

57) flenmeny s &maflsafe genm /A
Device which is used for measuring mass
[A] syemeymmLiT/ Tape
[B] &L &&Im&/Beam Balance
[C] @il &g &ML Sundial
D] semeyCamed/ Scale

for reference.
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58) Qummet @il 2y b6 s 59 marawuii
Bin&E0iurs & EamgL Tibuw [ When the
object is placed very dlose to the concave mirror, the
image formed is
[4] Sofiw Hemeo £ wmwfibun
[B] Gufiu gemes &1 wrwnfhbob
[C] Qi Grpme wmwiifiibin
[D] Snflw Gwpmes wmwi il

[A] Small, inverted virtual image
[B] Enlarged, inverted wirtual image
[C] Enlarged, erected virtual image
[D] Small erected virtual image

59) Beummien e SiplumL slaails
eugmgsy SWhich of the following is not a
fundamental quality
[A] ®meolh / Time

[C] Blenm, Mass

[B] femb/ Length
[D] uplueTey Area

B60) BleogHed Blyiygser wamuilamed ghu@n
Hemuo &l wWimeneal Which of the following is fare
disadvantages of disposing wastes using land filling
1. s &le Bleofems o4& 8pul&En
2. mEDSD hMyLOGETLD LD
3. BlmUsmeT afl&@n Curgy SmhHanm

Lmau{E & &
4. mEFs0 Quml sanen Hleodsw Hiflaen
sl aflfun
[A] all [B]1.2.3
[€]12.3.4 (D11, 3.4

61) Qeuereumeflen Ceallweny QnE&es0L emay
/The Audible Range of bazt is (Hertz)
[A] 20-20,000 [B] 900-2,00,000
[C] 100-32,000 (D] 1000-1,50,000

62) uflstr & puNeT §dgieuid The Principle of fuse
wire is
[A] puwiferoCl L GEmgenen, Oersted Experiment
[B] &4 toiThnf &fldlf Amphere’s Law
[C] spib el Ohm's Law
[D] gFeo Cleutiuafigl/ Jule Thermal Law

63) uflstr @wimiufies LwaTuED S&Hieub ¢ The
Principle of fuse wire is
[A] Glemfliy & & gieuLd, Fleming's Principle
[B] &y 10aTlwnf efgl Amphere’s Law
[ClumyCL S&Hieun Farade Principle
[D] GeumebLm && Gieuldy' Volta Principle

Information Prowvided here is

64) Qumm & gi s
LI g BIE | UL by EIED 1
a) #pemeos) LEssn | Comiismi
TPEETUTrN
allpeug
bl semafiFmewma 1wl s uls
Eiws LD Gl el g
o) P s 1. ESlg &M Darsodle
LT T T T Euw& LD
Buwssin
dl GRIGHT(E 4. Befsh B
Ewssin Suussin
8 b [+ d
ml & 3 1 2
B3 4 1 2
B3 4 2 1
| & 3 2 1

5] Blad mammhs Caulublme aamug Lowest
temperature is
[A] 07K [B] 273.14°C

[C]-273.14K  [D]373°%C

66) uply SeurliuEh satmoullds e dren
QumimL ssmen Nfl&ELWN (Wenm The method
used to separate two substances based on the
difference in the force of attraction between two
substances

[A] i ULy (uenm Chromatography
[B] sumgeul” (B&eiy Filtration

[C] UGM&LOT&EY Sublimation

[D] eumemen suig &&ew Distillation

67) sfwnen snmnflenand GEiay Choose the correct
statement
1. spail simevdan Geumofll GHlen e g
2. Lymee & i ] S TSl SimenmET S,
1. The Sound cannot pass through the vacoum
2. Ultra Violet waves are mechanical waves
[A]1Only [B] 5 Cnly
[C] Both D] None of these

68) ssun g g Hlaspalle wosTuml g g

dlemL_GiHih sy MHMED Marey | Energy obtained
from the respiratory equation

aonly

CoHyOp + Boy = Cog + BrglDeeeee Energy
[A] 25001 [B] 2900 KI
[C] 25000 J D] 22000 KJ

for reference.
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69) sflwrs QurmbSuata Samammug CaTs

70) Memdfldy H S sailfulls s Fallgs wpeolh

71) &G o arereumniled gy Hwmifwe wrmHmib

72) el e, & SerSlgen, B 2 8weui e

73) BEusarafisgnd@ oo oms CRICHTEE

74) Camyu’ & @mEiuans sawEify Related with
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Choose the correct statement

1. fpamen - AHLLanen

2.dpell JHEE0 - (B S&HMED

3. Ryames - (&) &amen

4. el ey - CEHLLamen

1. Water waves — Longitudinal waves

2. Sound waves — Transverse waves

3. Water waves — Transverse waves

4. Sound waves — Longitudinal waves

[A] 1 and 2 Only [B] 2 and 3 Only
[C] 2 and 4 Only [D] 3 and 4 Only

Wi siffleug ¢ In Flemings Left Hand Rule, index
finger indicates

[A] WBlsrGammlL glemes/ Electricity

[B] &L g8 Ewirgin S Conductors force
[C] &mihe Lensdlan ailms’ Magnetism

(D] @den argLflcbeaman Neither

Sleveu/Which of the following is not a physical

change

[&] sminf saEul + Fdolfls spfleon =
Ll S IT 610

[B] Ly LD LGkl 86 LT 85 60

[C] Q@ eflged D] mefo 2 (GiSSED

Cumsyasafiar Uil (B afgh / The relative numbeq

of moles of Hydrogen, Oxygen, water are in the ratio
of

[A] 2:2:1 [B] 1:2:2
[C]2:1:2 (D] 1:1:2

Qeymemeuey ¢ Displacement for the shortest distance
between two points is

[A] Speed / GoumLh [B] Velocity @lan & Gau &L
[C] Displacement (B CrGlLwsilé &

[D] None of these  / @eneu o g eLilcdamen

heat in one action

[A] Conduction / &L H&ED [B] Convection/ Sanemi
[C] Absorption / 20 Seuf&eD

[D] Radiation ; &&lfalke

75} H 4 H —e He' + On' + summed §iig

aflem s g

[A] % ELIMY I T (556000 Ly 6T 4 ) 66 6 (I
EBamawe)  allanea

[B] 0 ST L2 66T (5 6007 ke 687 30600 &6 6 LT
auflem @

[C] 4880 (5T 160 gy &l Llemey aflanan

[D] 24 g v 81 3y g & (T, Llemey efleman

76) WsmamhE GNOWLMED S bS] / Electro
Magenetic Induction was invented by
[A] Fleming / UlemuSin [B] Volta ¢ CeumssLm
[C] Ampere ; sgibiflwag [D] Faraday ¢ umgrGL

77 wemip g afiaea SCw alpd &eum GOCUTE
B & flanmFGaumid / Rain drop starts to fall down
when the velocity of the drop is )

[A] (piymis HlonsCos 5 HnE s s

Bl whms SemsCaissms all sublan

O whns Hmstasgms el @moeay
(D] mmyifenes SlamsCeus Hmg el HHl s

[A] equal to terminal velocity
[B] greater than terminal velocity
[C] less than terminal velocity

|D] greater than critical velocity
78) sroCsmafiiy Qg WL ugdles HoME
a(gefien Clalugamsg mmué Qeeugy /
Which of the following is acts to reduce the
temperature of the spring in MRI scanning?
[A] Sired @nmLTEe (Liquid Mitrogen
[B] direy smeunLyege / Liguid Hydrogen
[C] dipeu Gemgund [ Liguid Sodium
(O] &gy @unfefunn [ Liquid Helium

79) QuiprusLcoseflar spmefl e aufiiwg S
S| EMEUTEN ) | The average ocean salinity is
[A] 34.5 @igmb ; SIGeom Symub
[B] 35 dlgmd ¢ SGeom Siymo
[C] 36 dlgmd ; SGeom Sym
D] 16 élgmbd , SGeom Hymn

80) diyeu puiedluib s1hs PaHHmen
Uhbuwnm&&es Sk allwar s(heafldr Cleulu
16 G061 U (Eem MIIE Clewinimn /
Liquid helium can reduce the temperature of the coil
in MRI equipment to around
[A]A0K [B] 4K
[C] 273K |D] o°C

The Information Provided here is only for reference. It May wvary the Original
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Bl) g smofied 10 v (Aeen(pd s Geumyum(Eeva
B yaaflsaflm G 5C S L GmE
& &S SElwmnu’ L Gawmen f How much work
is done in moving a charge of 5C across two points
having a potential difference 10V?

[A] 16 groen [B] 5 g2s0
[C] 50 Erosn [D] 25 Eroen
82) 190560 Uil et SemE g &smeu
/ Im 1905, Albert Einstein discovered
[4] gaflflar aflmara) whmn DAy afid
Ew s s

[B] NGyemaeflel Fuwissn wmmn Amoy smjy
i e e

[C] Amiy smiy CsmeTans Wnmin afl W
eilemeney

[D] spafl ufilélr eflmereay, Hmlny emiy
Qamerans whmn SNQAyareflsar Swssm

[A] Photoelectric effect and Brownian motion

[B] Brownian motion and special theory of relativity

[C] Special theory of relativity and photoelectric effect

[D] Photoelectirc effect, special theory relativity and
Browmian motion

B3) il dgyd Clam e (56 @i smfladmne

i il smen [ Sound waves from a sounding

car are
[A] tramswerse waves @yﬁ@ SEmeo

[B] longitudinal waves / GIRLL&méed

[C] ultrasonic waves [ QEailamrgr el
SI6TEL S ET

[D] stationary waves / [REMED S4em a0 &eT

B4) 30 dfl L § spoiuminfes OfiGes Coumen
Gl g LmTumen s & Simeumany
¥ SEeuiUl L QemarL &bl
GamLmileueom cueneod ©&mFiTlem e
Smin&ss allmbuSlnrg el 1S &E
HrCaummigl Sin0d Aariilseor amens
Gl L) &ML eTemam? ¢ Mr.X wants to establizh a
broadbad wirless net connection for his employers
spread over a radius of 30 kms. The wireless standar
be needs to impact to them is
[A] Bluetooth connectivity / Li@g(E& S&miy
[B] Wimax connectivity / smeuGLD&et &MLy
[C] Infra-red connectivity / Si&&FHaulL Q&MY
[D] Wifi connectivity / smeu..amu Q&MY

The Information Provided here is

aonly

85) My Cgmei il by seafsh ag
Heummang) | Which of the following statement is
not correct about Neutron?

[A] ey Cmme Ll 6iT sam O &) ST

[B] BluL L ymen flenm YComlL mem fHemm e
aflL. &on(f &0

[C] Wl ymeir 2y gy edleir LSl Cum e
3, (G0

[ O]y L 7 g o 4 iy b 21 (g el
IR, e () (8 T Sy

|A] Neutrons are particles with no charge

|B] Mass of Neutrons is higher than proton

[C€] Neutron is also regareded as sub-atomic particles

[0} Meturon is absent in hydrogen atom

BE) Uilgir eu (e amenmm) e eTgy Wiy 24l somam
Slwefursgn imear Qsmameg) ( Which of the
following has the highest ionizing power?

[A] X —rays / eTdeny &8I ser

[B] Alpha rays / S E00UIM & &y &
[C] Beta rays / @&MLOM &SI ET
[D] Gamma rays / L w s&jssr

87) aLcofflemen @ufors wrhmn Qg

WL LGl nweru@in Cumeg)aumen

Clewipemm&en wmsmeu? [ Which are the common

methods involved in the desalination of ocean water?

[A] SamqUUTaET Fim&s0 LT il 8000 {55

[B] LighTh B LOTLO 6 LOMMILD Eumemen €l &g e

IC] spalwnged wHmud Ban@n @anjeallssedh

[O] Uelmam eumemes &g &80 LoD
Hymailmed eumsmes auig & &e

[A] Solvent extraction and crystallization

[B] Sublimation and distillation

|C] Evaporation and recondensation

|D] Fractional distillation and steam distillation

B8) Cyfuiiemreumi sl uawysafle geammang /
Choose the in correct statement about the
properties of anode rays
1. Bl muemL il &) &

2. GHGHML g L a0

3. ulilemLeo & dled eilloo s aoam L i

1. It consists of material particles

2. It travels im straight line

3. It is Deflected by electric field

[A] 1 ow” (R [B] Z (B
[C] 3wl (Hn

0] @dls0 gayufletmen

for reference. It May wvary the COriginal
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89) Qunmg gis m]

& BT EL LT & 1B g S (T el

a) g aumuy 1. Lyems

b eumyeilso B I &

o)  eumwedlsy eumw) 3, GLD &L

d  eumuellsd gl@mom 4. GHTLTUTamD
a b c d

Al a & 2 1

| 3 4 1 2

oy 4 3 1 2

o] 4 3 2 1

50) sGeomfl fiysen s Ouem uTle oy
culflemFulle erlp& &7 Arrange the following in
ascending order based on the calonfic value?

1. fomadl aumig

2. meusifl

3. CuC Gpmed

4. Fumemn & ey
[A] L2, 4,2
[C]14,2,3.1

[B]2,3.4,1
(012 13,4

91) 1T eu heu a7 eummy e 678y & FLIsfle

ym Ceuympmin CHETHMLD SE00THS T8 |
Which of the following has the highest ionizing
power?
[4] Diamond / @euqid  [B] Graphite; Shym:.amul
[C] Butane / Glyy ' €1 ax
[D] Fullerene ; Usbeuflar

92) Memeumeum mieh g @u.sgquilen
uwansafléd Heummeng) | Which of the following
is not an application of concave mirror?

[A] @il siECLY / Solar Cooker

[B] (& FFaurih Qelinjn sk, Shaving mirror
[C] s mdsjen syu/ Dentists

[O] eumrsem NefTUM Silg / Rear View mirror

93) Qeuereto pemiflen Smer -0.SmUWrOuLF
arafln MG Hafliug Grum WHTD eums
ETEEW |/ If power of a lens is -0.5 dioptre focal length
and type of lens is
[4] 2 m, concave /2 8, YR
[B] 2 m, convex / 2 16, @eadl
[C] 50 cm, concave / 50 @&, @uil
[D] 50 cm, covex /50 Qa&l, @eal
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94} sflwme QummkEuarer Bamamaws Caie
Choose the correct statement
1 erends el Hé s o060l gGanmmn
2erendsLgmem CHTOy- o) &endlgei g (E &0
JoareudLpmel RS- o) &erdlgei g (E &0
4. Tl el GEULY - S8 &erflg G ML
1. Removal of electron — oxygenation
2. Addition of electron — reduction
3. Removal of electron — reduction
4. Addition of electron — oxygenation
[A]1and 2 Only
|B] 2 and 3 Only
€] 2 and 4 Only
1D} 1 and 3 Only
55) pEACRTMNL aaiug T&ME SN G /
One Kilowatt is equal to
[A] 10 sum
[C] 1000 euml
96) efwra Gnésmauilsn £ Uiy ST ey
CLomuiy suamemar &alh Emiug g /
‘Why the wings of an aeroplane are shaped with

[B] 100 &ML
[D] 10000 EumL_

lower surface being flat and the upper surface being

curved

[A] To reduce vibration

[B] To make difference in pressure to life the plane
vertically

|C] To accommodate more passengers in the wing

|0} To strengthen the wheels fitted in wings

[A] i FTened (GenmEs

[B] LOMAOILIC L 3008 5 &6 & S euarLIT &Sl
eflnmen eng CLoCleo(bu Qe

[C] Sl sinmen Lwsmfl&anan & mim

[0 Emden Sullen QU (& &L (B erer
s#HarHH0E cuelonin CafHs

97w pall sy@wE aaTug A Light year is .......
[A] 1.496 x 10*° &Ll [B] 9.46 x 10™ &L
[C]9.46 x 10" &11E (D] 1.496 x 10°° &L

08} sLsh Qewliu Wilelm = hugHuflcd LjanLisisanen
Buiss s Sajib aimiy ¢ In Ocean Thermal Energy
Conversion Plants the vapour of which gas is used to
run the tubine
[A] B / Water [B] v memrmely/ Ethanol
[€] sCwmssflwm/Ammonia[D] Quedsin / Benzene
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59) Apaumausraumayer srameu #flr Which of the

following are correct?

1. Capman= allms x FL OGuwi&a
L@mew = Camen x &IeoLh

3. alfleme = Hlanm x Hens#Gamin

4 (pE&sD = SmeGamid x ST

1. Work = Force x Displacement

2. Power = Work / Time

3. Force = Mass / Velodity

4. Acceleartion = Velocity / Time

[&] {i). (i} and {iii} [B] (i}, {iii} and [iv}
[C] (i} (i) and (iv) [D] {i} (i} and {iv}

100) uflsirment erebruigy / An electric cell is a device

[A] which conwverts electric energy into chemical
Benergy

[B] which converts tidal energy into electric energy

[C] which converts chemical energy into electric
Benergy

[D] which converts electric energy into tidal enegy

(4] lsraTmmenes Geudl S, MMETS LT T

[B] B s mmanes Ll armhmenes WmmimiwD

[C] Geudl s mmaneay Ll mhHmmaon s
LEWIT 1) T L

(D] Wilsmammmen ey ML S40IT e0mS LTI

ALL THE BEST
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MOCK TEST -10 (GEO-PHY ANSWER KEY)
I A 1@ D 21 A 31 C 41 A 5 A &1 D 71 C BB C W1 C
2 B 12 D 22 A 32 A 42 D 52 B 62 A T2 C B2 C 952 D
3 B 13 € 23 B 33 C A3 B 53 € 63 C T3 B 83 B 93 B
4 b 14 D 24 B 34 D 4 D 54 C &4 C T4 C 84 B 94 A
3 D 15 D 25 A 35 D 45 D 55 C 65 A T A B B 55 C
6 B 16 A 26 C 36 C 46 C 55 B 66 A 76 D B B 5 B
7 C 1r D 2y A ar B 4T B 57 B & A TF B B C ¢ B
8 B 18 B 28 C 38 D 48 B 58 C 68 B 78 D 88 D 58 C
9 C 13 B 29 A 33 B 49 C 5 D &8 D ™ B 88 D 98 D
10 B 20 € 30 A 40 D 5 € &0 D 7 C 8 B % B 100 C
The Information Provided here is only for reference. It May wvary the Original



	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_001.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_002.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_003.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_004.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_005.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_006.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_007.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_008.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_009.pdf
	TNPSC-Geography-and-Physics-Model-Question-Paper-with-answer-Part-1-_010.pdf

